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Part I
Answer briefly any Five parts from the followings.  5x2=10
Write foursymptoms of Emphysema?
Define OSmoregulation??qf o /:’- it ﬂ ko 5i(iii)
How sound is produced in Voice Box?
What are gangliones? € i/ :f'slﬁ (vi)
What is the length of spinal card? Write its function?

Define coordinator and give its example?

Answer briefly any Five parts from the followings. 5%2=10
What is meant by origin? ¢ »f e Fu (i) |

Define reproduction and write names ofits two types?

What is the difference between corms and bulbs?

What is mutation? and when does it takes place?

What is meant by dihybrid cross. et /U 1.4 #1015 Cvif)
Define theory of special creation.
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Answer briefly any Five parts
Define biOSpherel-c’ﬁUvé{/?J/f’;:l.,

Write examples of human impacts on ecosystem balance.
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What are interferons? Y& /Q’c‘j; 2 W)
Write advantage of leaves of foxglove.-aq ¥4 Ufu;f.-é)!(f( b (vii)

Write difference between prescription and non prescription medicines.

Part I
Note: Attempt any Two Questions.

What is kidney failure? and how it can be treated by kidney transplant. "c.CC

Describe the main components of the axial and appendicular skeleton of human.

Describe the structure of neuron.
Draw a Labelled diagram of flower and explain its different parts
Define single cell protein and write its procedure of prepare it.

Write a note on Antibiotic resistance.
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(ii) Differentiate between population and community. -ﬁ’f/ J /u“" u’ r( leg_fJ :’L

i
il
Jdv
vi

.viii

- f Z /’ ..,L:fL..,mr»;,Jf-.:.)

bbrd’a,u!k'i/dﬂrb&l{dml°c_m§nﬁ'1(£,(¢.)f i.5
Lo for L FE S AL

_Eukesifond 16

2ol LS S B limfoulPIUA <
éjg.d)b/d../(jbr_- J}IJ/JI/JJJ}/J/QP 1.7
-‘ii./:',;.:«?l/;f?_)!lﬁéu‘r,:g‘fl -

: 1042 - 1023 - 36000



et it i .4 7

2

£

R

GP-2-23

LI Ik B gy e s (frznz) 1023

125 _",f

PAPER CODE 3466

2019-21 to 2021-23 7~
1245

3 L HOD)

Hé/kd/ﬁ?

g )&
c.u_(h’:fi)}f@uf:k/ﬁbﬁfbjh"falkf £..J;?c:/ue_,ufUJ/'DZZ__.)&V[.J‘/[/_’QKQULUJE:’{_)DA'CrBrAOQIJZ;JF/lgLJV/;:¢)
(e Qb L ST PAPER CODE+2 4 24 U1 AUIn L2 s sle 2ol i fcsr §i L3 S, 24 Us s

_q_ai"dlﬁ’l(byAj/[,_/u‘:/;ﬁ_gfn/_'_k./lbd/l)ai)'(v‘ u.‘.’;,/y’(ﬂfqu/
Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
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Answer briefly any Five parts from the followings. 5x2=10 ..u’/ L=z AL lét:—éf = LSitn 24y

Write difference between Stomata and lenticels. -uf-dg Jit * u”') P
Write symptoms of Asthma. -uﬁ‘iai.lk s Gii) Define alveoli? “J_/q/gfd Uy
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Write the names of parts of urinary system of Human. -uf’g (L’Z:uf‘? L("’/ S sy Ll
Write components of glomerular filtrate. ~Ufﬂ AN s }’ o /,(
What is the function of meduﬁa oblongata? ?‘L(VLI 1 u_fw Iy
How ear maintains the balance of body? "al}t(/(,’ ] d/ u)l}"b?)' ¥
Write the functions of parathormone hormone. ..uﬁdg ¢ KLumwrm e

Answer briefly any Five parts from the followings.  5%2=10 /¢ /\=bz él]lét;d:(auﬂg):bp -3/Ju«
Why is skletal system necessary for human body S fss AULE L() Qi

What is poilination?‘-‘c‘:_ﬁ/gc,u"":dg Gii) Define hinge joints. _é’i_i...é!/."d/fllﬁ(‘f
Write difference between hilum and micropyle. P J}uﬁ'J‘L;/.C’ l.ul(‘yg
What is transcription? ) , fe.i . c.ﬁp 1/
Write down definition of continuous variations and give two examples. -éﬁ&»»l.@ /‘7 J ] /37. J’V
Write contributions of Charles Darwin for evolution. ,Z‘LJ eled L d/ a3 Lf Jla
Differentiate between breeds and cultivars. . v‘iﬁ u/u" ubdK ks

it

Answer briofly any Five parts from the followings.  5%2=10 /¢ feliz* Lizmbiedictdivs 440y

Write down two effects of acid rain? S ...,l/fuJ:JJLdl 7z
How we can minimize effects of air pollution by using ‘-’u.?é/f/f:«’/"L&)Té'nL/JP’IKu”MI:—/5)J7L(4

environment friendly fuels?
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Define deforestration? <UL s - /7 J u—-,_%. SSs il
Differentiate between intra-specific and inter-specific interactions? - PRS- =gy DT = .
What do yowknow about alcoholic fermentation. "g,[!;lrqul o L.JLLJW / S v
Write applications of fermentation in dairy products. -J;“V el i ;ufu/:! 1845 Vi

What is difference between antigens and antibodies?‘-‘g&)&fuﬁ' zﬁl,&'luf yd C&'l (viii) Whatare tctracyclines?‘-’g,{}’!_,r }:“M K vid

Part e 1 <z -
Note: Attempt any Two Questions. 9x2=18 Sl ezl ctrne diied
Differentiate between xerophytes and halophytes. ) -é J/ u-fgj‘:’/ Ui"'u'u’? bsgi A5
What is arthritis? Describe its three types. (214141 -a.{u_l_/.(lﬁlcjfgfw‘.’é._\/f,l}ﬁ |
Where is Thyroid gland present? Write the (Aoa) Ll sl ?wz,nc;uub‘f Ky UJLZ 3.6
importance of hormones secreted by it. ‘U/ e ./IJ Iy A
Describe the structure of seed with the help of labelled diagram. (/05) -u’/ubau d/ﬂbeJJ_)l/JC -

What is the scope of Biotechnology in the field of (o4 .__',,C(J.)bgf,fg‘j:qr LostismSupasihr NI
Medicine , Food and Agriculture? . ?‘L_y/
Describe the sources of Drugs in detail? (#05) ' £ .l;.c,g}:‘j ZZUSLJ_/ J‘ bl o
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